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3 Reproductive Health

( Fastracl« Revision )

> A total well-belng in all aspects of reproduction such as
physlcally, mentally and emotionally Is called reproductive
health.

» All the reproductive argans should be healthy w/ith normal
functlons.

» Reproductive Health Problems
Major problems associated with reproductive health are:

>

>

Over Populatlon: Exploslon in populatlon causes
a scarclty of every baslc need and hence affect the
well-being of reproductive health.

Sex Education: Due to lack of sex education, people
are not concerned about safe and hyglenic sexual
practice.

Adolescance Relatad Changes: The changes which
take place in adolescents can lead to sex abuse and
hence can affect reproductive health.

Sexually Transmittod Disaases: Sexually tronsmitted
diseases can affect the reproductive health.

Sox Abuse and Sex Related Crimes: Sex abuse can
cause physlcal Injury, unwanted pragnancy, vaginal
discharge, pelvic paln etc.

Female Foeticldes: Female Ffoetlcide can affect
reproductive and sexual health of a woman.

» Roproductive Health Stratagles

>

>

Family Planning

e The Increase In human population, health and
educatlan aof all the children as well as marrlage
and child bearing capacity of Individuals are some
speclal concerns for the overall reproductive health,

o Keeping In view the concerns of reproductive
health, Government of Indla initlated ‘Famlily
Planning' programme in 1951 and 'Reproductlve
and Child Healthcare' programme (RCH) In 1997,

o The major objectives of the programme are to
create awareness among people about varlous
reproductlve aspects and malntaln a total
well-belng of the reproductive argans.

e Government and non-government agencles have
taken varlous steps to create awareness about
consequences of uncontrolled population growth,
soclal evlls Uke sex abusae, sex related crimas etc.

Sex Educatlon

o Introduction of sex education In schoals and
colleges is anothar step to provide right Information
to the youth.

e Sex education save the young people from myths
and misconceptions about sex related Issues.

o ltisimportantto provide informatlonto the couples
and also who are in marriageable age group about

-

birth control methods, care of pregnant mothers,
importance of breast feeding, equality to the sex
and equal opportunities to the male and female
chlld etc.

e Infrastructural Facilitles and mataerial support
should be provided.

e MedIcal assistance should be provided and females
should be cared in reproduction related problems
like pregnancy, delivery, STDs, abortlons, menstrual
problems etc,

o Implementation of better techniques and new
strategles from time to time s also required to
provide more efficent care and asslstance to
people.

> Ban on Amnlocentesis

e Amniocentesis is a foetal sex determination test
based on the chromosomal pattern In the amniotlc
fluld surrounding the developing embryo.

o Amnlocentesls Is done to determine sex legally and
it should be banned as It increases fFemale foaticlde.

» Massive Child Immunisation Progromme
These should be Implemented to achleve the goal of
repraductive health,

» Population Explosion
» Therapidincrease in human population over a relatively

short period of time is called population exploslon.

» Due to overall development In varlous flelds like

increased health facllities, better living conditions etc,,
the quallty of life of people has been increased which
has a great Impact on growth of population.

ledge BOOSTER \

» Population s defined as the total number of
Individual's of a specles present In a particular area
at a given time.

» The sclentific study of human populations Is called
demography.

» Roasons for Population Explosion
» Arapld decline In death rate, Maternal Mortaolity Rote

(MMR) and Infant Mortality Rate (IMR).

> Anncrease in number of people in reproduclble age.
» Control of diseases and better public healthcare w/ith

greater medical attentlon.

» Steps to Control Population Explosion
> People should be educated about the advantages of

smaller Family.

» Statutory ralsing the marrlageable age of male and

female Is an effective means to control the population,

> The couples of reproductive age are motivated to

family planning by adopting birth control measures.
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» Birth Control
Various contraceptive methods are avallable to control the
birth of a child like natural method, barrier methaods, intra
uterine devices, oral contraceptives, Injecting harmones,
surgical methods.

l. Natural Methods
This method avoids chances of meeting of sperms and
ovum. Some of the natural methods are:

» Periodic Abstinance
> Inthis method, couples avold coltus from day 10to 17 of
the menstrual cycle when ovulation could be expected.
» This periodis also called as Fertile period as the chances
of fertilisatlon Is very high during thls period.
» Withdrawal or Coitus Interrupts
> In thils method, the male partner withdraws hls penls
from the vagina just before ejaculation to avoid
insemination.

> Lactatlonal Amenorrhea
» The menstrual cycle and ovulation do not occur during
intense lactotion and so the chances of pregnancy are
low.
» This method Is effective only upto 8 maximum perlod
of slx months after child birth.

Il. Barrlar Mathods
Here, barrlers are used to prevent the physical contact of
sperms and ovum. Some of the common methods are:
» Condoms
» The barriers which are made of thin rubber latex sheath
to cover the penls or vagina In males and Pemales
respectively are called condoms,
> They also prevent the spread of sexually transmitted
diseasas.
» Condoms trap the ejaculate and prevent semen from
entering the vagina.
> Example: Nirodh Is a popular broand of condoms for
males.
> Diaphragms, Carvical Caps and Vaults
» |t Is made up of rubber which Is Inserted In Female
reproductive tract to cover the cervix during coltus to
prevent conception by blocking the entry of sparms
through tha cervix.
> Spermicidal creams, jellles ond foams are usually
used along with them to Increase thelr contraceptive
efficlency.

Il Intra Uterine Deviceos

> Inserted by doctors in the uterus through the vagina which
Increases the phagocytosls of sperms within the uterus.

> These are avollable as non-medicated IUDs such as
lppes loop, copper releasing 1UDs such as Cu-T, Cu-7,
multlload-375 and harmone releasing 1UDs such as LNG-
20, Progestasert etc.

IV. Oral Contraceptive Pills

» Small doses of progesterone or progesterone-estrogen
comblinations are used by the Females In the form of
tablets popularly called pills.

> These are taken daily for 21 days starting from the Fifth
day of menstrual cycle and after a gap of 7 days, It has
to be repeated again.

» Hormonal pills prevent ovulation and implantation by
inhibiting the secretlons of FSH and LH from the pltuitary
glands.

» Example: Saheli, an oral contraceptive pill is a non-steroid
preparatlion used by females.

V. Injections of Hormones

» Progesterone along with other estrogen is used by
females as Injectlons under the skin. The effective perlod
is longer than pills but action is similar.

VI. Surglcal Methods

These are irreversible methods used by male/female partner
to prevent any more pregnancles. Surglcal or sterilisation
methods used are:

> Vasectomy
> The sterillsation process In males Is called vasectomy.
» In this process, a small part of the vas deferens Is
removed or tled up through a small inclslon on the
scrotum.

» Tubectomy
» The sterilisation procedure In the fFemales Is called as
tubectomy.
» In this method, a small part of the Falloplan tube Is
removed or tled up through a small inclslon In the
abdomen or through vagina.

» Medical Termination of Pregnancy (MTP)

> Intentlonal or voluntary terminatlon of pregnancy Is
called medical termination of pregnancy.

» Medical termination of pregnancy Is also termed as
induced abortion.

» MTPs are used to get rid of unwanted pregnancles and
the pregnancies which could be harmful or Fatal to the
mother or to the foetus or both.

» MTPs are safe up to 12 weeks /.., the first trimester of
pregnancy.

» Government of India legalised MTP In 1971 with strlct
condlitions to avold misuse.

» Saxually Transmitted Diseasas (STDs)

> Diseases which are transmitted through sexual
intercourse with Infected person are called sexually
transmitted diseases or venereal diseases or
Repraoductive Tract Infectlons (RTI).

» Gonorrhea, syphllis, genltal herpes, genltal warts,
hepatitis-B, AIDS, chlamydlasls are sexually transmitted
diseases.

» STDs can transmit through the following means:

o Sexual contact with Infacted persons.

o Sharing of needles or surglcal Instruments
contaminated with Infected blood.

o Transfuslon of contaminated blood.

e STDs, can also be transmitted from an Infected
mother to the foetus.

» STDs can be prevented by taking preventive measures
like:

e Avold sex with unknown persons or multiple persons.

o Always use condams during sex.

o If the early symptoms like Itching, fluld discharge,
slight pain, swellings occur In the genital reglons,
one must consult a doctor.

» STDs, If left untreated, can lead to Pelvic Inflammatory
Diseases (PID), abortions, still births, ectoplc
pregnancles, Infertility or even cancer of the
reproductive tract.
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» Infertility
> Inability to give birth to a child or inabllity to conceive
is called Infertility.
» The reasons for infertility can be physical, hereditary,
drugs, immunological, psychological etc.
> The couples could be assisted to have their own
child through certain special techniques called as
Assisted Reproductive Technologies (ART).
> Assisted Reproductive Technologies: Some of the
methods are:
> In Vitro Fertilsation (IVF)

IVF involves fertllisation of ovum outside the body
followed by Embryo Transfar (EF).

Ova from the wife/donor female and sperms From
the husband/donor male are collected and are
induced to fForm zygote under stimulated conditions
In the laboratory.

The zygote Is then transferred Into the Falloplan
tube called as Zygote Intra Falloplon Transfer
(ZIFT).

If the embryo Is with more than B blastomeres, it Is
transferred Into the uterus called as Intra Uterine
Transfer (IUT).

e The transferred embryo completes its Ffurther
development within the uterus.

g8 BOOSTER :

* Dr Robert Edwards got 2010 Nobel prize for
developing a technique for production of test
tube baby.

» A women who substitutes or takes the place of
the real mother to nurse the embryo is called
surrogate mother.

Gamete Intra Falloplan Transfer (GIFT): Here, ovum
is collected from a donor female and is transferred
into the Falloplan tube of another female who cannot
produce ovum, but can provide sultable environment
for Fertllisation and Further development of embryo.
Intra Cytoplasmic Sperm Injectlon (ICSI): In this
method, sperm Is directly Injected Into the ovum under
laboratory condltlons,

Artificlalinsemination or Intra Uterine Insemination:
Here, the semen collected elther from the husband or
a healthy donor Is artificlally Introduced elther Into the
vagina or Into the uterus of the famale.

& Practice Exercise

'@ Multiple choice Questions N

QL
Q2.

Q3.

Q4.

Q6.

Q6.

Which of the following is ART?

a. lUDs b. GIFT c. 2IFT d. Both b. and c.

The technique called Gamete Intra Falloplan

Transfer (GIFT) is recommended for those females:

a. who cannot produce an ovum.

b. who cannot retaln the foetus Inside uterus.

c. who cannot provide sultable environment for
fertilisation.

d. All of the above

Increased IMR and decreased MMR In a population

will:

a. cause rapld Increase in growth rate.

b. result in decline in growth rate.

c. not cause significant change In growth rate.

d. result in an explosive population.

A national level approach to build up a

reproductively healthy soclety was taken up In our

country In:

a. 1950s b.1960s ¢.1980s d.1990s

Which of the following correctly describes

the measures that can be used to control over

population?

a. Educating peaple about the advantages of a small
Family.

b. Ralsing the age of marrlage.

c. Encouraging famlly planning programme.

d. All of the above

Amnlocentesls s a technique usad to:

a. determine errors In amino acld metabollsm In
embryo.

b. pln point specific cardlac ailments In embrya.

c. determine any heredlitary genetic abnarmality In
embryo.

d. All of the above

Q7. Emergency contraceptives are effectlve if used

Q8.

Q9.

Q10.

QLL

Ql2.

within:

2. 72 hrs of coltus

b. 72 hrs of ovulation

c 72 hrs of menstruation

d. 72 hrs of implantation

Condoms are one of the most popular
contraceptives because of the following reasons:
a. these are effective barriers for Insemination.

b. they do not Interfere with caltal act.

c. these help In reducing the risk of STDs.

d. All of the above

The correct surgical procedure as a contraceptive
method Is:

2. avarlectomy b. hysterectomy

C. vasectomy d. castration

Which of the following Is not a characteristic of an
Ideal contraceptivae?

a. User-friendly b. Irreversible

C. Easlly avallable d. Least slde-effects

The most important component of oral
contraceptive pills Is:

2. progesterone-gstrogen b. growth hormaone
c. thyroxine d. Luteinizing hormone
What is true about “Saheli"?
(i) Developed at the CDRI, Lucknow

(ii) Contains a steroidal preparation

(iii) "Once-a-weak" pill

(iv) Many side effects
(v) High contraceptive value

(vi) Very few side effects value

(vii) Low contraceptive value

a. (). (i), (i), (v). () b. (1), ifl). (v). (vi). (vii)
c (1), (i), (i), (iv). (v) d. (I). (). (iv). (v)
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Ql3.

Q1l4.

Q5.

Qle.

QI

Q1ls.

World AIDS day is observed on:
a. December 21 b. December 1
€. November 1 d. June 1

From the sexually transmitted diseases mentioned

below, identify the one which does not specifically

affect the sex organs?

a. Syphills b. AIDS

c. Gonorrhoea d. Genital warts

Which one of the following groups includes

sexually transmitted diseases caused by bacteria

only?

a. Syphils. gonorrhoea, chancrold

b. Syphils, chlamydlasls, chancrold

C. Syphilis. gonorrhoea. scables

d. Syphills, scables, pediculosls
During parturition, a pregnant woman is having
prolonged labour pains and childbirth has to be
fastened. It is advisable to administer a hormone
that can: (CBSESQP 2021, Tarm-1)

a. Increase the metabollc rate

b. release glucose In the blood

c. stimulate the ovary

d. activate smooth muscles

A female undergoing IVF treatment has blocked

Fallopiantubes.The technique bywhich the embryo
with more than B blastomeres will be transferred

into the female for further development Is:
(CBSESQP 2021, Tarm-1)
a. ZIFT b. GIFT ¢ luT d. Al
Glven below are Column A with a list of certain
Assistad Reproductive Technologles (ART) and in
Column B the proceduras followed during ART:

Column A Column B
S.No. | Nomaes of ART | S.No.

(A) | GIFT U

Procodures

Tronafer of ovum
frum @ donor Into
the Folloplan tube
of another female.

(8) ICSI (1) Transfor of somon
from the donor Into
the vagina of the

famaole.

(@] ZIFT (i Injecting  sperms
directly Into the

ovum,

O Ul (iv) Trongfer of aarly
embryos Into the

Falloplan tuba.

Choose the option where ART correctly matches

with the pracedure. (CBSE2023)
a. (A)-(1). (8)-(In). (C)-(i). (D)-{Iv)

b. (A)-(iv). (8)-(1). (C)-(il). (O)-(in)

c. (A)-(iv). (B)-(ill). (c)-(i). (D)-(il

d. (A)-(i). (B)-{iii). (c)-(iv). (D)-(ii)

Q19.

Q 20.

Qal.

Q22.

The mode of action of the copper ons in an IUD is
to: (CBSE SQP 2021, Term-1)
a. Increase the movement of sperms

b. decrease the movement of the sperms

c. make the uterus unsultable for Implantation

d. make the cervix hostile to the sperms

An IUD recommended to promote the cervix

hostility to the sperms is : (CBSE 2021, Tarm-1)
a. Cu-T b. Multiload-375
c. LNG-20 d. Cu-7

Identify the disease which is not a sexually

transmitted disease. (CBSE 2021, Tarm-1)
a. Gonarrhoea b. Syphilis
¢. Amoeblasls d. Chlamydlasls

A human male decldes to adopt a surgical method
for contraception. Identify the point in the diagram

where a cut would be made and tied. (C85€2023)
3
i
\t:*/ =
p

\! :

a. Polnt § b. PoIntR c. PointQ d. Point P

" Assertion & Reason Type Questions N

Directions (Q,Nos. 23-32): Each of the following questions
consists of two statements, one Is Assertlon (A) and the other
Is Reason (R). Select the correct answer to these questions
from the codes a, b, c and d as glven below.

Q 28.

Q 24.

Q25.

a. Bath Assertlon and Reasan are true and Reason Is
the correct explanation aof Assertion.

b. Both Assertion and Reason are true but Reason Is
not the correct explanation of Assertion.

¢. Assertlon Is true but Reason Is false.

d. Assertlon Is false but reason Is true.

Assertion (A): Sponge and delfin are chemical

methods of contraceptian.

Reason (R): Dlaphragms and cervical caps are

disposable barrier method of contraception.

Assertion (A): Fetal chromosomal disorders can be

dlagnosed by chorlonic villi sampling.

Reason (R): Karyotyping can be dane for mitotically

dividing cells of chorlonlc villi.

Assertion (A): Generally, a woman does not

conceive during the lactation period.

Reason (R): The hormone prolactin Initiates and

maintains lactation in a postpartum woman.

|
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Q 26.

Qa7

Q 26.

Q29.

LS

Assertion (A): PCR, ELISA, DNA hybridisation
are confirmatory tests for sexually transmitted
diseases.

Reason (R): Incildence of STDs Is very high in
persons above the age of 30.

Assertion (A): Determining the sex of an unbomn
child followed by MTP is an illegal practice.
Reason (R): Amniocentesis is a practice to test the

presence of genetic disorders also. (CBSE 2023)

Assertion (A): Lactational amenorrhea Is the

natural method of contraception.

Reason (R): It increases the phagocytosls of sperm.
(CBSE SQP 2021, Term-1)

Assertion (A): Saheli, an oral contraceptive for

females, contains a steroldal preparation.

Reason (R): It Is a “ance a week” pill with very few

side-effects. (CBSE SQP 2021, Tarm-1)

Q 30.

Q3L

Q 32.

| Answers|

(d) Both b. and c.

Both GIFT and ZIFT are the Asslsted Reproductive

Technologies (ART). Intra Uterine Device (IUD) Is a

method of blrth control.

(a) who cannot produce an ovum.

Gamete Intra Falloplan Transfer (GIFT) Is transfer of

an ovum collected from a donor Into the Folloplon

tube of another female who cannot produce ova but

can provide proper environment for fertilisation and

further development.

(b) result In decline In growth rate

(a) 1950s

(d) All of the above

(c) determine any hereditary genetic abnormality In
embryo.

In amnlocentesls, amnlotic fluld contalning cells

from the skin of the foetus and other gources Is

withdrawn with a syringe. These cells are then

examined to detect certain blochemical. enzymatic

and hereditary genetlc abnormalities In embrya. But

now-a-days, It Is belng misused to determine the

sex of the foetus so that the female foetus may be

abarted.

(a) 72 hrs of coltus

Fertilisation takes place after 24 to 48 hours of

coltus and Implantation takes place after 6-7 days.

If the morning after sex pill of the contraceptives Is

talen after 72 hours.

(d) All of the above

(c) vasectomy

Vasectomy Is the process of sterilisation In a surgical

contraceptive method. In this methaod. a part of the

vas deference Is removed or tied.

10.
1.

12.
13.
14,
15.

17.

18.
19.

Assertion (A): Parturition is induced by a complex
neuroendocrine mechanism.

Reason (R): At the end of gestation period, the
maternal pituitary releases prolactin which causes

uterine contractions. (CBSESQP 2021, Term-1)

Assertion (A): Very often persons suffering from
Sexually Transmitted Diseases (STDs) do not go
for timely detection and proper treatment.

Reason (R): Absence or less significant symptoms
in the early stages of STDs and the social stigma
attached to the disease. (CBSE 2021, Term-1)

Assertlon (A):Vasectomy s a sterilisation procedure

advised for females as a terminal method.

Reason (R): In vasectomy, a small part of the vas

deferens is removed or tied by blocking gamete

transport therefore preventing conception.
(COSE2021, Terin-1)

(b) Irreversible

(a) progesterone-estrogen

Birth control pills (oral contraceptives) check
ovulation In female by Inhibiting the secretlon of
FSH and LH that are necessary for ovulation. It
contaln small does of either progesterone alone
or a combination of progesterone and estrogen
(combined pill).

(d) (1), (). (iv). (v)

(b) December 1

(b) AIDS

(@) Syphilis, gonarrhoea. chancrold

(d) activate smooth muscles

During birth, prostaglandins Initiate the contraction
In smooth muscles of uterine wall which causes
labour pains. The pressure of foetus's head against
the cervix and send slgnals to make hypothalamus
to trigger the release of oxytocin from posterior
pltultary. Together, oxytocin (OT) and prostaglandins
stimulate strong uterine muscle contraction forcing
the foetus downwards and thereby expelling it out of
uterus. Thus, to hasten the childblrth, It Is advisable
to administer the hormone that stimulates uterlne
smooth muscle cantraction, Le. oxytocin.

(b) GIFT

GIFT s the technique by which the embryo with
mare than B blastomeres will be transferred Into
the fernmale far further development

(d) (A)-(1). (B)-(lii). (c)-(iv). (D)-(ir)

(b) decrease the movement of the sperms

The presence of the IUD in the uterine cavity
creates a local Inflammatory reactlon that appears
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20.
23.

24,

25.

26.

27.

28.

29.

30.

to prevent sperm from reaching the Falloplan tubes.
In addition. copper-bearing IUDs release copper
Inside the uterus and the Falloplan tubes, enhancing
the debilitating effect an sperm thereby decreasing
their movement
(c) LNG - 20. 21.(c) Amoeblasis. 22. (c) Point Q
(c) Assertlon Is true but Reason Is false.
Diaphragmes. cervical caps and vaults are made of
rubber, inserted into the female reproductive tract
to cover the cervix before coitus. They prevent
fertilisation by blocking the entry of sperms through
the cervix. These barriers are reusable.
(a) Both Assertion and Reason are true and Reason
is the carrect explanation of Assertion.
Durlng early pregnancy. fetal chromosomal
disorders can be dlagnosed using chorlonic villl
sampling, In this technique the physiclan inserts a
narrow. flexible tube through the mother's vagina
and cervix Into the uterus (gulded by ultrasound)
and withdraws a small amount of fetal tlssue
(charlonic vill) from the placenta. Because the cells
of the chaorionic villi are undergoing rapld mitosls.
these cells can be used for karyatyplng.
(b) Both Assertion and Reason are true but Reason Is
not the carrect explanation of Agsertian.
Milk secretion is maintained as long as breast
feeding, and hence hormone productlon continues.
A woman does not canceive during the lactation
perlod becaugse lactatlon stimulates prolactin
secretion and there Is evidence that prolactin
Inhiblts GnRH secretion, and antagonlses the actlon
of gonadotroplns on the ovarles. Ovulation s
Inhiblted, and the ovaries are Inactive, so estrogen
and progesterane output falls to low levels, Thus
during lactation a woman does not concelve. Only
5-10% chances are there during lactation period.
This can also be interpreted as mechonlsm devised
by nature so that mother can look after the newborn
child by providing it with milk.
(c) Assertion Is true but Reason is false.
STDs are a major threat to healthy soclety. Incldence
of STDs Is very high in persons vha have 15-24 years
of age.
(b) Both Assertion and Reasaon are true but Reason |5
not the correct explanotion of Agsertion.
(c) Assertion Is true but Reason Is false.
Lactational amenorrhea means absence of
menstruation and Is based on the fact that ovulation
and therefore the cycle does not occur during the
perlod of Intense lactation. So, It Is called as the
natural method of contraception. But It does not
Increases the phagocytosls of sperms.
(d) Assertlon Is false but Reasaon Is true.
Sahel Is a new oral contraceptive for the females
that contalns @ non-steroldal preparation. It Is once
a week plll with very few slde effects and high
contraceptive value.
(c) Assertion Is true but Reason Is false.
The process of delivery of the foetus (childbirth)
Is called parturition. Parturition is induced by a
complex neurcendacrine mechanism. The signals

)1

32.

for parturition originate from the fully developed
foetus and the placenta which Induce mild uterine
contractions called foetal election reflex. This
triggers release of oxytocin from the maternal
pitultary. Oxytocin acts on the uterine muscle and
causes stringer uterine contractions, which In
turn stimulates further secretion of oxytocin. The
stimulatory reflex between the uterine contraction
and oxytocn secretion continues resulting In
stronger and stronger contractions. This leads to
expulsion of the baby out of the uterus through the
birth canal

(a) Both Assertion and Reason are true and Reasan

is the correct explanation of Assertion
(d) Assertion Is false but Reason Is true.

-@) Case Study Based Questions N
Case Study 1

QL

Q2.

Q3.

Q4.

Q6.

Birth Control

Over population causes number of family
problems. Strategies like birth control methods
help to control population explosion. Natural
methods of birth control do notinvolve medications
ar devices to prevent pregnancy but rather rely on
behavioural practices and/or making observations
about menstrual cycle.

Which method helps In contraception by temporary
absence of sex?

a. Coltus Interruptus

b. Withdrawal methad

¢. Rhythm method

d. Lactational amenorrhea methad

On which days of menstrual cycle should coltus be

avoided to prevent fertilisation?

a 10-17 b. 6-13 c -5 d. 15-28

Why is lactational amenorrhea effoctive for about

4-5 months after parturition?

a. Ovulation accurs on about the l4th day of
mengtruation.

b. Ovulation does not occur during Intense lactation.

¢. This methad Inhibits mability of sperms.

d. Both b. and c.

Which fact is not the basls of perlodic absence

method of birth control?

a. Ovum remalns alive far about 1-2 days.

b. Ovulation occurs on about 14th day of
mengtruation.

c. Sperms survive for about 3 days.

d. Alteration In uterine endometrium.

Assertion (A): The effectiveness
interruptus method is limited.

of coltus

Reason (R): Some sperms may pass into vagina

befare ejaculation.

a. Bath Assertion and Reason are true and Reasan s
the correct explanation of Assertion.

b. Both Assertlon and Reasan are true but Reasan Is
naot the correct explanation of Assertion.

c Assertion [s true but Reason Is false.

d. Bath Assertion and Reasaon are false.

|
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() 2. (a) 3. (b) 4. (d) 5. (a)

Case Study 2

QL

Qa.

Q3.

Q4.

Q5.

Barrler Method of Contraception

Intra uterine devices are most widely accepted
methods of contraception. These are used by
females and are inserted by doctor or nurses in the
uterus through vagina. However these devices are
not recommended for those who eventually intend
to conceive.

How does Cu prevent conception?

a. Cu lons make uterus unsultable for Implantation.
b. Cu ions make cervix hostile to the sperms.

c. Cu lons suppress sperms motility.

d. Cu lonsg Inhibit ovulation.

Which of the following IUDs makes uterus
unsuitable for implantation?

a. LNG-20 b. Multiload 375

c. Cu-7 d. Lippes' loop

Identify the correct statement for IUDs.

a. They slowly release synthetic progesterone In the
bady.

b. They Increase phagocytosls of sperms within the
uterus.

c. They block entry of sparms through the cervix

d. Both b.and c

Select the correctly they matched palr:
a. Hormone releasing IUD - LNG-20

b. Non-medicated IUD - Progestasert

c. Copper releasing IUD - Lippes’ loop

d. Nane of the above

Assertlon (A): IUDs can cause excess menstrual
bleeding and pain.

Reason (R): IUDs can perforate uterus.

a. Both Assertion and Reason are true and Reasaon Is
the correct explanation of Assertion.

b. Both Assertlon and Reason are true but Reason s
nat the correct explanation of Assertlon.

c. Assertlon Is true but Reason Is false.

d. Assertlon Is false but Reason Is true.
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Case Study 3

QL

Infertility

A young couple married for 5 years is unable to
bear a child inspite of not practising any birth
control method. Upon consultation, doclor
advised them an assisted reproductive technology
involving transfer of gametes into oviducts.
Identify the technique adopted by the couple.

a. ZIFT b. [UI

c GIFT d. ICSI

Q2.

Q3.

Q4.

Q5.

What is the pre-requisite of this technique?

3. Gamete formation should be normal

b. Falloplan tubes should be normal

c. Female should have thick endometrial lining.
d. Male should be able to copulate the female.

What is the success rate of this procedure?
2. 30-50% b. <20%
c B0-85% d. 27-30%

The procedure advised to couple involves the
transfer of:

a. fertilised ovum

b. embryo with B blastomeres

c. sperms and unfertilised ovum

d. embryo with 16 blastomeres

Assertion (A): GIFT is an In vitro fertilisation
technique.

Reason (R): In GIFT, gametes are fertilised outside

the female body.

a. Both Agsertion and Reason are true and Reason is
the correct explanation of Assertion.

b. Both Assertlon and Reason are true but Reason Is
not the correct explanation of Assertion.

C. Assertion is true but Reasan Is false.

d. Both Assertion and Reason are false.

Ql
Ans.

* '| Answers '| °
1. (c) 2. (b) 3. (d) 4, (c) 5. (d)
Case Study 4
Amnlocentesis

A technique known as amniocentesis is used to
determine fetul abnormalities. This test is based
on the chromosomal patiern in amniotic fluid.
However, this technique is legally banned now.

§ ™ Foolus
\“n‘ 0 - Colla ahod by
L

growing fooluo

8yringo with noodle

wilhdrowo o
small nmount of
{luld and colls

Read the given passage carefully and give the
answer of the following questions:
What is amniocentesls?

Amniocentesis Is a technique used to determine fetal
abnormalities.

L L L o o

|



r - -

.

Qe
Ans.

Q3.

Ans.

Ans.

Identify X and Y in the given figure.
X s Uterine veall, and Y Is Placenta.

What s the function of Z?
Z Is an amniotic fluld which prevents dessication of

an embryo.

OR
Mention a non-invasive technique of detecting
fetal disorder.
Ultrasound imaging Is a non-Invasive technique of
detecting fetal disarder.

Case Study 5

Ql
Ans.

Qe

Ans.
Qa.

Ans.

Ans.

Sexually Transmitted Disease
A 23 year old Sahil has been diagnosed with an
infection of reproductive tract caused by bacteria.
He complaing about burning sensation during
urination, pus-containing discharge and pain
around genitalia. This infection has incubation
period of 2-5 days but can be cured.
Read the given passage carefully and give the
answer of the following quesrions:
From which disease is Sahil suffering?
Sahilis suffering from gonorrhoea.
Which reproductive tract Infections Is transmitted
by bacteria?
Chancrold Is transmitted by bacteria.
Which mode of treatment would be useful for
Sahil?
Use of antlblotic amplclilin would be useful for Sahll.

OR

What technique was used to dlagnose Sahil's
disease?

Gram stalning of discharge and culture was used to
dlagnose Sahil's disease.

'@ Very Short Answer Type Questions \

QL

Ans.

Qa.
Ans,

Q3.

Ans.

The present population growth rate in Indla Is
alarming. Suggest ways to check it.
The ways to check population growth rate are:

(I) By Increasing marriageable age.

(Il) By promoting use of birth control measures.
(i) By educating people about caonsequences of
uncontrolled population growth.

Expand MMR and IMR.
MMR - Maternal Mortality Rate
IMR - Infant Maortallty Rate.

A mother of one-year old daughter wanted to
space her second child. Her doctor suggested Cu-T.
Explain its contraceptive actions.

Cu-T Increases phagocytosls of sperms within the

uterus and the Cu®" lons released SUppress sperm
motility and the fertilising capaclty of sperms.

Q4.

Ans.

Q5.

Ans.

Q6.

Ans.

Q7.

Ans.

Qe.

Ans.

Q9.

Ans.

Q lo.
Ans.

Q1L
Ans.

Ql2.

Ans.

Q3.

Ans.

QU.

Ans.

Why is tubectomy considered a contraceptive
method?

Tubectomy Involves cutting a piece of the Falloplan
tube and tying Its ends. This way, the sperms are not
able to reach the egg and so fertilisation cannat take
place. Thus, it acts as a contraceptive method.

What general term is given to the method in
which the male partner withdraws his penis from
the vagina just before ejaculation so as to avoid
Insemination?

Coitus interruptus is such a method.

What are the commonly used barrier methods of
contraception?

Condoms, dlaphragms, cervical caps and vaults are
the commonly used barrier methods of contraception

A newly married couple does not want to produce
children at least for one year and also not to use
any contraceptives. Suggest a method to prevent
pregnancy.

Periodic abstinence or coltus interruptus can be
used to prevent pregnancy.

Why do intensely lactating mothers not generally
conceive?

Due to suppression of gonadotropins. ovulation
and menstrual cycle do not take place In lactating
mothers. 5o. they do not generally conceive.

Name the surgical methods of contraception.
Vasectomy In males and tubectomy In femalas are
the surglcal methads of cantraception.

What Is sterilisation?

Sterllisation Is a surglcal method to block gamete
transport and thereby prevent conception.

What is meant by artificlal insemination?

Artlficlal iInsemination s a technlgue by wehich semen
collected from the husband or a healthy donor Is
artlficlally introduced elther Into the vaglna or Into
the uterus of the female.

Mention any two events that are inhlbited by
the intake of oral contraceptive pllls to prevent
pregnancy In humans.

Tvro events that are Inhiblted by the Intake of oral
cantraceptlve pllls to prevent pregnancy In humans
are ovulation and implantation.

Our government has intentlonally Imposed strict

conditions for MTP in our country. Justify giving a

reason.

The Government has Imposed strict conditions for

MTP to prevent female foeticide, to maintain sex

ratio and to avald any danger for (young) mather and

foetus.

Government of Indla has raised the marriageable

age of female to 18 years and of males to

21 years. Suggest any two more maasures adopted

by Government for the purpose.

The measures adopted by government for the

purpose are:

(I) Incentives glven to couples with small familes.

() Medla publicity through posters of happy
couples with two children (Hum Do Humare Do).

(Il Motlvation to pramote smaller familles by using
contraceptive methods. (Any two)

e



_ s m—e—e—-——————r——_—-—-r—_-r-:G—--_-Gr-:r-_-—-—|,:r-r-—rGr—-—:-—-r-—-rr-—-—-—r—-:—r-.-_,,-—-—----—-—--— "7

Q15.

Ans,
Q 16.
Ans.

Q1.

Ans.

Qle.
Ans,

Q19.

Ans.

Q 20.
Ang,

QalL

Ans.

A doctor has observed the chromosomal disorders
In developing foetus and advised the couple to
undergo abortion. Suggest the technique by which
doctor absorbed the chromosomal disorders.
OR

Glve the technlical term for foetal sex determination
test based on the chromosomal pattern in the
amniotic fluid surrounding the developing embryo.

Amniocentesis is such a technique.

Expand IUD and MTP.
IUD - Intra Uterine Device
MTP - Medical Termination of Pregnancy.

Name the causative agent of AIDS.
Human Immunodeficlency Virus (HIV) ks the causative
agent of AIDS.

Name two sexually transmitted diseases caused by
bacterla.

Syphllis and gonorrhoea are the sexually transmltted
digeases caused by bacterla.

Mention early symptoms of STDs.

Early symptoms of STDs include itching. fluid
discharge. slight pain and swellings In the genital

reglon,

Expand ZIFT and RTI,
ZIFT = Zygote Intra Falloplan Transfer
RTI - Reproductive Tract Infection.

At what stage zygote can be introduced In the
Falloplan tube in Zygote Intra Falloplan Transfer
(ZIFT)?

Zygote can be Introduced In the Falloplan tube In ZIFT

at B-cellad stage.

..’ Short Answer Type Questions \)

QL

Ang.

Q2.

Ans.

At the time of Independence, the population of

India was 350 million, which exploded to over

1 billion by May 2000. List any two reasons for this

rise in population and any two steps taken by the

government to check this population explosion.

Two reasons far Increase In population are:

() A rapld decline In death rate. maternal mortality
rate and Infant mortallty rate.

() Increase In number of peaple In reproduclble
age.

Twuo steps for checking population explosion:

(I) Statutory rise of marrlageable age of the female
to 18 years and male ta 2] years,

(i) Incentives glven to couples with

gmall

families.

What Is amnlocentesis? Why has the government
Imposed a statutory ban inspite of Its Importance
In the medical field?

Amniocentesis is a foetal sex determination test
based on the chromosomal pattern in cells extracted
from the amniotic fluld. surrounding the developing
embryo.

Q3.

Ans.

Q4.

Ans.

Q5.

Ans.

Q6.

Ans.

Q7

Ane.

Qe

Ans.

Q9.

Ans.

Amniocentesis Is used for sex determination. which
most people go for, to kill female foetus. Therefore. It
has been banned.

Describe the lactational amenorrhea method of
birth control.

Lactational amenorrhea ls based on the princlple
that during the period of Intense lactation after
parturition, menstrual cycle or ovulation does not
occur.

Describe the chemical methods of birth control

Chemical methods of birth control are as follows:

(i) Spermicidal creams, jelies and foams are
introduced in the vagina just before coltus that
kills sperms.

(Il) Plls are taken as oral contraceptive that Inhibits
ovulation and thus implantation.

Bring out one maln difference between Cu-T and

LNG-20.

Cu-T Is copper releasing IUDs.

Cu® lons released suppress sperm motility and
thug the fertilising capacity of sperms decreases.
LNG-20 Is hormone releasing IUDs.

While the harmona releasing IUDs make the uterus
ungultable for Implontation and the cervix hostlle to

the sperms.

Why is Cu-T consldered a good contraceptive

device to space children?

Cu-T is an Ideal contraceptive device for human

females becouse of the following reasons:

(I) Cu®” Ions released suppress sperm motilty and
fertillsing capacity of sperms.

(i) It Increases phogocytosls of sperma within the
uterus.

How do copper and hormone releasing IUDs act as

contraceptives? Explain.

Copper and hormone  relensing

contraceptives In the following ways:

(I) The copper releasing IUDs release Cu lons. which
suppress sperm motllity and the fertillsing
capaclty of sperms.

(I) The hormone releasing IUDs make the uterus
unsuitable for Implantation and the cervix hostile

to the sperms.

Explain how do the followlng act as contraceptives:

() '‘Cu-T (1) ‘Saheli’

(I) Cu®" lons released suppress sperm motility and
lovsers the fertilising capacity of sperms.

() Sahel inhibits ovulation. implantation. as well as
alter the quality of cervical mucus to prevent or
retard the entry of sperms.

Name an oral pill used as a contraceptive by human

famales. Explain how It prevents pregnancy.

IUDs act as

L L L o o
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Q10.

Ans.

QL

Ans.

ERRQOR »

Oral pllls Inhiblt ovulation and Implantation, as well
as, alter the quality of cervical mucus to prevent
or retard entry of sperms. Thus. fertilisation and
further pregnancy is prevented.

Why is ‘Saheli' considered to be an improved form
of oral contraceptive for human female?

‘Sahell" contalns a non-steroldal preparation and Is
once-a-week plll with high contraceptive value and
very less slde-effects. Therefare. it is consldered an
improved form of contraceptive pills.

A couple where both husband and wife are
producing functional gametes, but the wife is
still unable to conceive, is seeking medical ald.
Describe any one method that you can suggest to
this couple to become happy parents.

Methods: IVF/ZIFT/Al

IVF (In Vitro Fertilisation): Ova from wife and sperm

from the husband Is collected. It Is Induced to formed
zygote under simulated laboratory conditions.

Students give wrong explanation of the method or
write Incorrect procedure for the mentioned method.

Ql2.

Ans.

Qla.
Ana.

Q4.

Ans.

A childless couple has agreed for a test tube baby
programme. List only the basic steps the procedure
would Involve to conceive the baby.

The steps Involved to concelve the baby are:

(I) Extraction of gametes from parents.

(1) In vitro fertilsation.

() Transfer of zygote (at B blastomere stage) Into
the Folloplan tube.

Why Is the term test tube baby a misnomer?

The term test tube Is a misnomer because the baby
Is not developed In the test tube but only fertilisation
ig carried out In the laboratory conditions (in vitro).
The fertilised egg (zygote) or early embryo Is then
transferred Into the Falloplan tube or uterus of the
mother where it develops and a normal baby Is
barn.

An infertile couple Is advised to adopt

test tube baby programme. Describe two princlple

procedures adopted for such technologies.

The two principle procedures adopted for such

technologles are:

(i) IVF/In Vitro Fertilisation: Lt Is the fertllsation
of gametes outside the body In almost simlilar
conditions as that in the body.

(i) ET/Embryo Transfer: In It, the embryos formed
by fuslon of gametes Is transferred Into
reproductive tract or uterus.

-’ Lﬂllg Answer Type-| Questions \)

QL

Ans.

Q2.

Ans.

Q3.

Ans.

Q4.

Ans.

Q5.

Ans.

If implementation of better techniques and new
strategies are required to provide more efficient
care and assistance to people, then why Is there a
statutory ban on amniocentesis? Write the use of
this technique and give reason to justify the ban.
There is a statutory ban on amniocentesis to legally
check female foeticlde. This sex determination
technlque has been mlsused to eliminate grl child
before birth.

This technigue is also used to detect the abnormal
chromosomes or any genetic disorder.

The ban Is Justlified to prevent female foeticlde
which could lead to change In sex ratio of the

population.

Answer the following questions:

(I) Mention the problems that are taken care of by
Reproduction and Child Healthcare programme.

(il) What is amniocentesis and why there is a
statutory ban on It?

(i) Reproduction and Child Healthcare programmes
take care of uncontrolled population growth.
STDs and soclnl evils lke gex abuse and gex
related crimes.

() Foetal wex detarmination tests baesed on
chromosomal pattern In the amnlotic Auld to
study chromogsomal abnormalities In the foetus
Is called amnlocentesls.

It Is banned so as to legally chack famale
foeticlde.

(1) Name any two copper releasing IUDs.

(If) Explain how they act as effective contraceptives
In human females.

(I) Cu-T. Cu-7 are copper releasing IUDs.

(1) IUDs functlon by elther of the following
mechanism: gsuppress  sperm  motility or
suppress fertllsing capacity of sperms and
Increase phagocytosls of sperms within utarus.

Name two hormones that are constituents of
contraceptive pllls, Why do they have high and
effective contraceptive value? Name a commonly
prescribed non-steroldal oral pillL
Progestopen-estrogen combination, Progestogen or
Progesterone are present In contraceptive pills.
They Inhibit ovulation. implantation and alter quality
of cervical mucus to retard entry of sperm. Sahell Is
a commonly prescribed non-steroldal oral pilL
Name and explain a surgical contraceptive method
that can be adopted by the male partner of a
couple. (CBSE2023)
One surgjcal contraceptive method that can be
adopted by male partner of a couple Is vasectomy.
In this procedure, the vas differens, the tube that
carrles sperm from the testicles to the urethra. Is cut
or blocked. This prevents the release of sperm during

L L L o o



Q6.

Ans.

Q7.

Ans.

Learn the correct schedule for contraceptives as well as
their actions.

eJaculation and therefare. fertilsation does not occur.
Vasectomy is a permanent form of contraception
and Is a simple and safe procedure that can be
performed under local anesthesla. It does not affect
the sexual performance or libido of the male and has
a very low fallure rate.

(i) Expand IUD.

(il) Why is hormane releasing IUD considered a
good contraceptive to space children?

(i) IUD — lntra Uterine Devices.

(i) Hormone releasing IUDs are consldered a good
contraceptive because of the following reasons:
(a) They make unsuitable for

implantation.

(b) They Increase the phagocytosls of sperms
within uterus and the Cu lons released:
suppress sperm motility and the fertilising
capacity of sperms.

A woman has certain querles as listed below,

before starting with contraceptive pills. Answer

them.

(I) What do contraceptive pills contaln and how do
they act as contraceptives?

(ii) What schedule should be followed for taking
these pills?

(I) Contraceptive pills contaln propestogen or
progestopen-estrogen combination.

They act as contraceptives by either of the

followlng way:

(a) inhibit ovulation

(b) Inhibit Implantation

(c) alter quallty of cervical mucus to prevent or
retard entry of sperms.

(Il) Contraceptive pllls should be taken dally for a
perlod of 21 days starting within first Alve days
of menstrual cycle (to bo repeated after a gap of

7doys)
TiP

the uterug
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Ans.

A pregnant human female was advised to undergo
MTP. It was diagnosed that the fetus she was
carrying had developed from a zygote having 45
chromosomes with only one X chromosome.
(i) What Is this condition called and how does it
arise?
(i) Why was she advised to undergo MTP?
(CBSE SQP 2023-24)
(I) The embryo has Turner's syndrome due to
aneuploldy of the sex chromosome. Such a
disorder Is caused due to the absence of one of
the X chromosomes. i.e.. 45 with XO.
(I) she v/as advised MTP as the child will have the
following problems:

Q9.

Ans.

Q10.

Ans.

QL

Ans.

(a) rudimentary ovaries
(b) poorly developed breasts
(c) lack of other secondary sexual characters
(d) delayed or no onset of the menstrual cycle
and Infertile.
Within what age group Sexually Transmitted
Diseases (STDs) are reported to be very high?
Mention three practices to avoid them.
In the age group of 15-24 years, STDs are reported
to be very high. Following are the three practices to
avoid them:
(i) Abstain sexual contact with unknown partners
or multlple partners.
(if) Always use condoms during coltus.
(iii) In case of any doubt. medical help should be
taken for early detectlon.

Expand and explain the following techniques used
in the Test Tube Baby programme: (CBSE2023)
(a) GIFT (b) ZIFT (c) Ul

(I) GIFT: GIFT stands for Gamete Intra Falloplan
Transfer. It Is the transfer of an ovum collected
from a donor Into the Falloplan tube of another
female. who cannot produce one but can provide
suitable environment for fertilisation and further
development of the embryo.

() ZIFT: ZIFT stands for Zygote Intra Falloplan
Transfer. In this process, the zygote or early
embryo with up to B blastomeres Is transferred
into the Falloplan tube.

(If) UL Ul stands for Intrauterine. It Is also called
artificlol Insemination. [t [s the process of
Injecting sperm directly into @ woman's uterus
using_a catheter to assist conception In_an

Infortile couele.

" Long Answer Type-Il Questions \)

Describe the various methods of birth control
Methaods of birth control: The contraceptive methods
or methods of birth control are divided Into following
categories:

(i) Natural/traditional methods

(1) Barrier methods

() Intra Uterine Devices (IUDs)

(lv) Oral contraceptives

(v) Injections and Implants

(vi) Surgical methods.

Natural methods: These are methods that work an
the principle of avolding the meeting of ovum and
sperm.

() Periodic abstinence Is a method In which a
couple avolds or abstalns from coltus from day

10-17 of the menstrual cycle. when ovulation Is
expected to occur.

L L L o o



() Coitus Interruptus or withdrawal s a method

in which male partner withdraws his penis from

the vagina Just before ejaculation so as to avold
insemination.

(iii) Lactational amenorrhea is based on the
principle that during the period of lactation after

parturition. ovulation does not occur.
Barrier method: These methods prevent the contact
of sperm and ovum with the help of barriers. Such
methods are avallable for both males and females.

(i) Condoms are barriers made of thin rubber/latex

sheath used ta cover the penlis in the male or

vagina and cervix In females. It prevents the
deposlition of ejaculated semen into the vagina
of the female.

(1) Dlaphragms, cervical caps and vaults are the
barriers made of rubber that are inserted Into

Students are advised to write the answer step by step.

Surgical Methods (Sterilisation)

(I) These are terminal and permanent methods
which block the transport of gametes. thereby.
preventing conception.

(I In males, a small part of the vas deferens is
removed and tled up through a small Incislon on
the scrotum. This Is called vasectomy.

() In females. a small part of the Falloplan tube Is
removed and tled up through a small incision
in the abdomen or vagina. This s called

tubecturngg.

TiP:

the female reproductive tract to cover the cervix

durlng, coltus. They prevent the entry of sperms
through cervix.

(iii) Spermicidal creams, jellies and foams are

used along with these barrlers to Increase thelr

contraceptive efficiency.

Intra Uterine Devices (IUDg): These devices are
inserted by doctors In the uterus through vagina.
There are three types of IlUDs avallable:

(I) Non-medicated  1UDs:  These  Incroase

phagocytosis of sperms within the uterus. e.g.
Lippes' loop.

(Il) Copper releasing IUDs: Along w/ith phagocytosls
of sperms, the copper lons released suppress

sperm motility and fertilising capacity of sparms,
e.g. Cu-T, Cu-7. Multiload 375.

(i) Hormone releasing IUDs: Thase make the uterus
unsultable for Implantation and the cervix

hostile tao sperms. e.g- Progestasert LNG-20.

Oral Contraceptives

(1) This involves uptake of harmonal preparations
of either progestogens or progestogen-estrogen
combinations In the form of pllls by females.

() They Inhibit ovulation and Implantation as well

as alter the quality of cervical mucus to prevent
entry of sperms.
() 'sahel’, an oral contraceptive for females

contalining a non-steroldal preparation was
developed by scientists at Central Drug Research
Institute (CORI) In Lucknow.

(iv) Pills have high contraceptive value and few side
effects.

Injections and Implants

() Progestogens ar progestogen-estrogen

combination can also be used by females as
injections or Implants under the skin.

(II) Thelr mode of actlon Is similar to that of pllls but
their effective periods are longer.

Q2. Suggest and explain any three Assisted

Reproductlve Technologles (ART) to an infertile
couple.

Ans. The infertile couples could be assisted to have

children through certain speclal techniques called
Agsisted Reproductive Technolagles (ART). which are
given below:

(1) Test Tube Baby Programmas

(8) In thle method. ova from the wife/donor
(female) and the sperms from the husband/
donar (male) are collected and Induced to
form zygote under simulated conditiong In
the laboratory. This process Is called In Vitro
Fertilisation ( IVF).

(b) The zygote or early embryo with up to
8 blastomeres Is transferred Into the
Falloplan tube (process s colled Zygote Intra
Falloplan Transfer ar ZIFT) and embryo with
maore than 8 blastomeres [s transferred Into
the uterus (process Is colled Intra Uterine
Transfer ar IUT).

(c) In females who cannot concelve. embryos
formed by fusion of gametes in another
female (called In vivo fertllisation) are
transferred.

(i) Gamete Intra Falloplan Transfer (GIFT)

It s the transfer of an ovumn collected from a

donor into the Folloplon tube of another female

who cannot produce one. but can provide
sultable enviranment for fertilisation and further
development of the embryo.

(lli) Intra Cytoplasmic Sperm Injection (ICSI)

It Is a procedure to form an embryo In the

laboratory by directly Injecting the sperm Into

an ovum.
(iv) Artificlal Ingemination (Al)

(a) In this method, the semen collected either
from the husband or a healthy donor is
artificially introduced Into the vagina or into
the uterus (Intra Uterine Insemination or IUI).

|
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Q3.

Ans.

Q4.

(b) This technique Is used In cases where the
male Is unable to inseminate sperms in the

female reproductive tract or due to very low
sperm counts in the ejaculation.

Placed below are case studies of some couples
who were not able to have kids. These couples
are not ready for adoption or taking gametes from
donors. After thoroughly examining the cases,
which Assisted Reproductive Technology will you
suggest to these couples as a medical expert?
Explain briefly with justification of each case.
(CBSE SQP 2023-24)

Couple Test reports of | Test reports of
Female partner | male partner

Couple 1 | Normal reports Normal sperms
In testes. Missing
connectlon in
epldidymis  and

vas deferens

Couple 2 | Blockage In the | Normal repaorts
Falloplan tube

Couple 3 | Normal reports Poar semen
parameters in
terms of count
motility and
morphology

Couple & | Low
reserve

ovarlan | Normol reports

Couple 5 | Sterllizatlon in [ Morphologlcally
male abnormal sperms

Couple I: Normal reports af female. Normal sperms
In testes, Migsing connection In epldidymis and vas
deferens In male.

Assisted Reproductive Technology

Semen will be devold of sperms In this case. So. In
Vitro Fertilisation (IVF) by collecting the sperms from
epldidymis. followed by ZIFT or IUT (Test Tube Baby)
is suggested. ZIFT Is transfer of zygote or early

embryo up to B blastomeres In Falloplan tube and
IUT refers to transfer of embryos with more than 8
blastomeres in uterus.

Couple 2: Blockage In the Falloplan tube in the
female. Normal reports of male.

Assisted Reproductive Technology

Blockage of Fallopian Tube will not allow transfer
of sperms to the site of fertilisation. In Vitro
fertilisation (IVF) followed by IUT (Test Tube Baby). It
would Involve transfer of embryo with more than 8

blastomeres In uterus.

Couple 3 : Normal reports of female. Poor semen
parameters in terms of count. motility and
morphalogy in male partner.

Assisted Reproductive Technology

Intra Cytoplasmic Sperm Injection (ICSI) In which
sperm lg directly Injected Into the ovum. Artificlal
Insemination procedure Is used malnly when sperms
have poor characteristic or low sperm count.

Couple 4: Low ovarian reserve In female, Normal
reports In male

Assisted Reproductive Technology

In Vitro Fertilisation (IVF) by selection of normal
blastocysts from ovary followed by Zygote Intra
Falloplan transfer Involving transfer of zygote
or early embryos up to 8 blastomeres (ZIFT) or
transfer of embryo with more than B8 blastomeres
In the uterus (IUT).

Couple 5: Poor ovarlan reserve In femaole,

morphologjcally abnormal spermas In male partner.
Agsisted Reproductive Technology

ICSI (Intracytoplasmic sperm injection) In which
selected naormal sperms will be Injected Into
the selected blastocyst. Intracytoplasmic sperm
Injectlon (ICSI) procedure Is used malnly when
sperms have poor characteristic or low sperm

Glven below are certaln situations. Analyse the situation and suggest the name of sultable contraceptive device

along with mode of action.

(CBSE SQP 2023-24)

Situatlon | Requirement of contraceptive for Name of contraceptive | Mode of action
No. device
1. blocking the entry of sperms through cervix
2 spacing between children
3. effective emergency contraceptive
4 terminal method to prevent any more pregnancy
in female
B, Sterillsation In male
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Ans.
Situation | Requirement of Name of contraceptive Mode of actlon
No. contraceptive for device
L blocking the entry of | Dlaphragms/cervical — caps/ | Cover the cervix during coltus
sperms through cervix [ vaults
2. spacing between | Cu or hormone releasing | Cu ions from Cu containing IUDs increase
children IUDs such as Cu T/Cu-7/ [ phagocytosis of sperms within uterus.
Multiload-375/Progestasert/ | suppress sperm motility and fertilising
LNG-20 capacity/hormone releasing |UDs make
| uterus unsultable for Implantation.
8. effective  emergency | Pllls contalning Progestogens | Pllls Inhibit avulation and implantation
contraceptive or progestogen-estrogen as well as alter the quality of cervical
combination or IUDs within mucus to prevent the entry of sperms/
72 hours of coltus |lUDs-Cu lons increase phagocytosls of
sperms within uterus, suppress sperm
matility and fertilising capacity/hormone
releaslng IUDs make uterus unsultable for
implantation.
4, terminal method to | Tubectomy Block gamete transport and prevent
prevent any  more conception.
pregnancy In female
5. sterillsation In male Vasectomy Blocks sperm transport.

Q6. Alarge number of married couples the warld over
are childless. It Is shocking to know that In India
the female partner Is often blamed for the couple
being childless.

(i) Why in your opinlon, the female partner Is
often blamed for such situations in India?

(ii) State any two reasons responsible for the cause
of Infertility.

(lif) Suggest a technique that can help the couple
to have a child where the problem Is with the
male partner.

Ans. (I) Female partner Is often blamed due to the

following reasons:

(a) Soclal mind get

(b) Inequality of sexes

(c) Lack of awareness/male dominated soclety.

(d) Awareness to be created that abnormality
can occur In bath males and females and
infartility lssues with sultable examples.

(e) Mutual respect towards both the partners In
coge of the problem and to find the remedy
from medical experts.

(f) Educate them to find the reason and not
beleve in superstitions.

(II) Infertility s coused due to physlcal abnormality In
reproductive system, cangenltal. Immunologlcal
or psycholoplcal problems.

(1) Intra Cytoplasmic Sperm Injection (ICSI), Artificlal
Insemination (Al). Intra Uterine Insemination (1U1)
can help couples where the prablem Is with the
male partner.

& Chapter Test

Multiple Choice Questions
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Q1 Amniocentesls is a technique used to:
a. determine errors In amino acld metabolism In
embryo.
b. pinpaint specific cardlac allments In embryo.
c. determine any hereditary genetic abnormality in
embryo.
d. ALl of the above.
Q2. Increased IMR and decrecased MMR in a population
will:
a. cause rapld Increase In growth rate.
b. result in decline in growth rate.

c. not cause slgnificant change In growth rate.
d. result in an explosive populatian.

Q3. Which of the following Is non-medicated Intra
Uterine Device (IUD)?

a. Cu-T

c Cu-7

b. Lippes’ Loop
d. LNG-20

Assertion and Reason Type Questions

Directions (Q.Nos. 4-5): Each of the following questions
consists of two statements, one Is Assertlon (A) and the other
Is Reason (R). Select the carrect answer to these questions
from the codes a, b, c and d as given below.
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Q4.

Q5.

a. Both Assertion and Reason are true and Reason Is
the correct explanation of Assertion.

b. Both Assertion and Reason are true but Reasan Is
not the carrect explanation of Assertian.

. Assertion is true but Reason is false.

d. Both Assertion and Reason are false.

Assertion (A): Amnlocentesis technique Is frequently

used in foetal disease treatment In Indla.

Reason (R): This technique can be used for

sex-determination of child.

Assertion (A): IVF is fertilisation outside the body

of woman.

Reason (R): The zygote upto 8 blastomeres could

be transferred into the Falloplan tube.

Case Based Questions
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Case Study 1

Q6.

(i)

(i)

(i)

(v)

Population is defined as the total number of
individuals of a species present in a particular
area at a given time. The sclentific study of
human population is called demography. The
rapid increase in population over a relatively shart
period is called population explosion. Four basic
processes arc involved in increase or decrease in
the population size. Population shows two types
of growth; exponential and logistic.

Which of the following factors are responsible for
population explosion?

A. Decrease In number of people of reproducible age
B. Decline in Infant mortality rate

C. Increase In maternal mortality rate

D. Rapld decling In death rate

2. Aand B b. BandC

c.BandD d AandD

What is the shape of curve showing logistic
growth?
a. Slgmold
C. Linear

b. J-shape

d. Hyperbola

What |s immigration?

a. Number of Indlviduals of the population who left
the habitat.

b. Number of Individuals that have come Into the
habltat.

c. Number of Indlviduals of @ specles per unit arce at
given tme.

d. Number of births per 1000 Individuals.

Equation of Verhulst-Pearl loglstic growth [s:

dN dN K=N
. —— @ [ —— ——
e i ar -k
dN K=N dN N
C. — = —_— (o sk Lo 2, (IR
dt r[ K ] dr [] K)r

Case Study 2

Q7.

0
(ii)
(iii)
(iv)

The Medical Termination of Pregnancy (MTP)
legalised by Government of India in 1971 with
some strict conditions to avoid its misuse. MTP
Amendment Act, 2017 was enacted by the
government of India with the intension of reducing
the incidence of illegal abortion and consequent
malernal mortality and morbidity. According to
this act, a pregnancy may be terminated on certain
grounds with in the first 12 weeks of pregnancy on
the opinion of one registered medical practitioner.
If the pregnancy has lasted more than 12 weeks,
but fewer than 24 weeks, two registered medical
practitioners must be of the opinion, formed in
good faith, that the required ground exist. The
grounds for such termination of pregnancies are:
(a) The continuation of the pregnancy would
involve a risk to the life of the pregnant woman
or of grave injury physical or mental health; or
(b) There is a substantial risk that of the child
were born, it would suffer from such physical
or mental abnormalities as (o be seriously
handicapped.
Read the given passage carefully and give the
answer of the following questions:
Expand MTP.
When was MTP Amendmant Act enacted?
After how much period MTP is advisable?

By MTP act which two programme will succeed?

Very Short Answer Type Questions

Qe.
Q9.

Q10.

Why do some womaen use Saheli pills?

During  which  duratlon the emergency
contraceptives are proved to be effective?

Give the name of the STD, which can be transmitted
through contaminated blood.

Short Answer Type Questions

QL

Ql2.

Amniocentesis for sex-determination is banned in
our country. Is this ban necessary? Comment.

Enlist the common causes of Infortility in males.
How this problem can be solved?

Long Answer Type-l Question

Q13.

Describe the technique by which genetic disorder
In a developing foetus can be detected.

Long Answer Type-ll Question

Q4.

What are the traditional methods of contraception,
which have been in use since anclent times?
o
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